DIVIDING WITH ZEROS

Each number in a division problem has a name.

divisor —_ 4136 P dividend

9 € quotient

When dividing
by zeros, follow
these three steps

/You can’t divide 7 into 4 so you move to the next

digit and ask yourself, “What is 49 divided by 7?”
7[490 7 7[490

What is 0 divided by 7?7 The answer is 0

Check to see if your quotient is correct. You can multiply
the divisor 7 by the quotient 70 and you should get the
dividend 490. 7 x 70 = 490. Your quotient is correct!

Divide to find the quotient.

6|17 4[240 9f630 7[420° 8[320° 3[270°

5|E0_ 8[720 7|§0_ 6|%0_ 9|ﬁo‘ zlﬁo_
5[400° 4[360 3[300° 6[480° 2[1a0° 7[490°
8|;0_ 9810 SEO_ 3%0_ 4%0_ 6|_63



ANSWER KEY DIVIDING WITH ZEROS

Each number in a division problem has a name.

9 € quotient

divisor gy 436 g dividend

When dividing
by zeros, follow
these three steps

</You can’t divide 7 into 4 so you move to the next

digit and ask yourself, “What is 49 divided by 7?”
7[490 _—77[490

What is 0 divided by 7?7 The answer is 0
Check to see if your quotient is correct. You can multiply

the divisor 7 by the quotient 70 and you should get the
dividend 490. 7 x 70 = 490. Your quotient is correct!

Divide to find the quotient.

20 60 70 60 40 90
6120 4|240 9|630 7|420 8|320 3|270
90 90 50 60 60 90
5[450 8720 7|350 6360 9540 2|180
—00 — 100, —30 is —
5/400 41360 3300 6]480 2140 7490
70 90 50 300 100 10

8F§§T 9F§ET SFiﬁf 3Fii7 4[266' 6[35'



